Aim: How do chemists specify the concentration of a solution?

Table T: Molarity & Parts per Million

Molarity — moles of solute

liter of solution Say, “moles per liter”.
solution = solute + solvent
Example: salt water salt + water

Demo: preparing 1.0 liter of a 1.0 Molar NaCl (aq)
total volume concentration solute water solution

1.0M=1.0mole/1.0L

7 Lrfen.
Step 1)/NaCI\ Lme_.
23 + 35 =58g/mole ﬁNﬁ;L::::JM
% °

Weigh 58g NaCl.

2) Transfer it into a volumetric flask. | ‘ :

3) Fill with H,0 to the 1 liter mark. Uofonetre Fask

4) Stopper & shake.

(Note: Since we placed the salt in the flask before adding the water, the combined volume is that of the
salt plus the water.)

What if you want less solution? Use a smaller flask, but just keep the same ratio.

1 Mole =0.5 =0.25 =0.1 ... etc Go to Sample Problems

1L 0.5 025 0.1

Chemistry 2\Chille molarity

Molarity = moles of solute
liter of solution

1) Given: 3 moles of NaOH dissolved in 1.5 L of solution. Find M.

Y = mofe M= 3 M= 2

1 /.5

2) Given: 2 moles of NaOH dissolved inf solution. Find M.

> 250mL = 0.26L
£ = G M= 2z s
7 0,250



3) How many moles of HCl are contained in:5 L of a 1.5 M solution?

Y = rofe v /-5= Hofe Mofe = S(1.5 )= 7.5
e - 5

4) How_‘many L of a 6 M solution contains 3 moles::df H,S047

M = 422%, 6 = 3 5(23): 3 LE 3 =0.5
L L

5) Given: 147 g of H,80; dissolved in(500 ml) of solution. Find M.
Soo mlL = 0.500L
25‘%}

' # tofes = gem mass = [47; - L
2(1) + 32 + ¥(J6) = g A - = /- M=3
ﬂwﬁL \zéyl

6) How many g of NaOH are contained in 750 ml of 4 M solution?
750 mL = 0-75 L

Aol # Mofes = grven pass DM S IW AT given pass = f204
' Yo g
SFT o
7) In what volume must 72 g of HCl be dissolved to make a 4 M solution?
7O\€ G iy & s gy N = tofe L=2=0¢
/1 35= 364 M L ¥
/‘fo/e_ # /‘10/25‘ = 72—j = 2 7: -—2—
3¢ 4 pA
Fhnke |



